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1242 9n=ss 0 1,931 0 1,031 0 1,931 |(N&E) S & a77-8 292 S 0IXI2 1,930,5302
1260 8201= = 0 2,363 0 2,363 1 2,362
1263 2251=71= 0 1,387 0 1,387 0 1,387 | (WRE) 2AHEI|Z 01X WX 1,387,000
1264 BEIIS 0 327 0 327 1 326 | (&) 2o/&sII2 01 HE 327,0008
1266 BLIEVIS 0 649 0 649 0 649 | (WSE) 22IIIEDIZ 01X = 649,0002
1300 LS T OHS 2,348,779 570,973 0 2,919,752 1,923,821 995,931
1810 RS ae 2,348,779 570,973 0 2,919,752 1,923,821 995,931
(5 S 5HAIE) 1P3IH 2| @ 810/ 7,260,0008
(ANAE) QUIEXFT st A28 20§ 2,365,000
(A&E) TSR 2ol J1H17 £47 04 39,300,000
1314 21011 0f 134,629 87 708 0 | 205337 (131,629 00.708 | (LSEZE) 20216 BEAS ASZ 2N I T0I el
(3A) IS 201717 2oLl (3= 240181) 100,075
(StAFE!) SHDFCHS! HI® EXI 1,0008
(StAFE!) SHDICHS! HI® EXI 1,0008
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